## **Historic, Archive Document**

Do not assume content reflects current scientific knowledge, policies, or practices.



CHOICE HOME GROWN CUT FLOWERS

# BIG DOLLAR BOX EVERYDAY

## Twice as Big on Saturdays

Delivered to All Parts of the City

PHONES MAIN 663-A



CASH PURCHASE SLIPS with every box. They're the "Same as Money" with our Premium List



NEW NANZ & NEUNER CO

Seeds, Bulbs, Plants, Trees and Shrubs 663 Fourth Avenue - Louisville, Ky.



Pomologisto. 18

Vachington BO

plet in

### NON-WARRANTY

Most failures with seeds, plants and bulbs are due to causes beyond our control, such as unfavorable weather and soil conditions, faulty planting, etc., which render it impossible for us to guarantee success, and although we endeavor to supply the very best stock, we give no warranty as to quality or productiveness of any of same. If the goods are not accepted on these terms, they should be returned at once and money will be refunded.

### TREES

### **EVERGREENS**

| Arbor Vitae, American—  1½ to 2 ft   |  |
|--|--|
| $1\frac{1}{2}$ to 2 ft\$   | 0.60   |
| 5 to 6 ft  | .75<br>3.50  |
| Arbor Vitae, Pyramidal—  | 0.50   |
| 2 to 3 ft  | 1.50   |
| 3 to 4 ft  | 3.00   |
| 4 to 5 ft  | 3.50   |
| Arbor Vitae, Peabody's Golden—2 to 21/2 ft.  | 2.50   |
| Arbor Vitae, Globe—18 inches   | 1.50   |
|  | 1.50   |
| Arbor Vitae, Compacta—2 to 3 ft  |  |
| Biota, Aurea Nana— 2 to 2½ ft  | 3.50   |
| Boxwood, Bushes—  8 to 10 inches 10 to 12 inches 15 to 18 inches 1 to 12 inches  | -  |
| 8 to 10 inches   | .30<br>.40   |
| 15 to 18 inches  | 1.25   |
| 1 1/6 ft   | 1.50   |
| △ 1t   | 2.75   |
| 5 IL   | 5.00   |
| Boxwood, Pyramidal— 2½ to 3 ft. 3 to 3½ ft.  |  |
| 2½ to 3 ft   | 3.50   |
| 3 to 3½ ft   | 5.00   |
| Boxwood, Standards— 15 to 18 inch stem, 12 inch head 15 to 18 inch stem, 18 inch head  |  |
| 15 to 18 inch stem, 12 inch head   | 4.00   |
| 15 to 18 inch stem, 18 inch head   | 5.00   |
| Boxwood, Ball Shaped—15 inches in diamter  | 0.00   |
| ter  | 3.00   |
| Juniperus Hybernica (Irish Juniper)  1 to 1½ ft. 2 to 3 ft.  | .50  |
| 1 to 1½ 1t   | 1.00   |
| 4 ft.  | 2.00   |
|  |  |
|  | 1.00   |
| Juniperus Sabina—1½ to 2 ft  | 1.00   |
|  |  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft   | 1.00<br>3.50   |
| Juniperus, Virginia Glauca (Blue Cedar)<br>2½ to 3 ft  | 3.50   |
| Juniperus, Virginia Glauca (Blue Cedar)<br>2½ to 3 ft  |  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White—   | 3.50<br>1.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White—   | 3.50<br>1.50<br>2.00<br>1.25   |
| Juniperus,       Virginia       Glauca       (Blue Cedar)         2½ to 3 ft.          Pine,       Austrian—         2 to 3 ft.          3 to 4 ft.          Fine,       White—         2 to 3 ft.   | 3.50<br>1.50<br>2.00   |
| Juniperus,       Virginia       Glauca       (Blue Cedar)         2½ to 3 ft.          Pine,       Austrian—         2 to 3 ft.          3 to 4 ft.          Fine,       White—         2 to 3 ft.   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50   |
| Juniperus,       Virginia       Glauca       (Blue Cedar)         2½ to 3 ft.          Pine,       Austrian—         2 to 3 ft.          3 to 4 ft.          Fine,       White—         2 to 3 ft.   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00   |
| Juniperus,       Virginia       Glauca       (Blue Cedar)         2½ to 3 ft.          Pine,       Austrian—         2 to 3 ft.          3 to 4 ft.          Fine,       White—         2 to 3 ft.   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft. 3 to 3 ft. 3 to 4 ft.  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft.  Spruce, Hemlock—  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 3 to 4 ft. 3 to 3 ft. 3 to 4 ft.  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Plumosa— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 5 to 3 ft. 5 to 3 ft. 5 to 4 ft. 5 to 3 ft. 6 to 4 ft.  Spruce, Hemlock— 15 to 18 inches 2 to 2½ ft.  Spruce, Blue—   | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.00   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 4 to 5 ft. 5 to 15 ft. 5 to 15 ft. 5 to 15 ft. 6 to 1½ ft. 7 to 1½ ft. 8 to 4 ft. 8 to 5 ft. 8 to 6 ft. 9 to 15 to 18 inches 12 to 1½ ft. 8 to 15 to 18 inches  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>2.50   |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 4 to 5 ft. 5 to 15 ft. 5 to 15 ft. 5 to 15 ft. 6 to 1½ ft. 7 to 1½ ft. 8 to 4 ft. 8 to 5 ft. 8 to 6 ft. 9 to 15 to 18 inches 12 to 1½ ft. 8 to 15 to 18 inches  | 3.50 1.50 2.00 1.25 2.50 1.00 2.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 4 to 5 ft. 5 to 15 ft. 5 to 15 ft. 5 to 15 ft. 6 to 1½ ft. 7 to 1½ ft. 8 to 4 ft. 8 to 5 ft. 8 to 6 ft. 9 to 15 to 18 inches 12 to 1½ ft. 8 to 15 to 18 inches  | 3.50 1.50 2.00 1.25 2.50 1.00 2.50 1.00 2.50 1.00 2.50 2.00 2.50 2.00 2.50 5.00  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp ra, Flumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Retinospora, Plumosa in the fine spora, Flumosa in the fine spora, Flu | 3.50 1.50 2.00 1.25 2.50 1.00 2.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Flumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 4 to 5 ft. 5 to 1½ ft. 5 to 1½ ft. 5 to 1½ ft. 5 to 1½ ft. 5 to 15 inches 5 to 2½ ft. 5 to 15 inches 5 to 2½ ft. 5 to 15 inches 5 to 2½ ft. 5 to 3 ft. 5 to 3 ft. 5 to 15 inches 5 to 2½ ft. 5 to 3 ft.  | 3.50 1.50 2.00 1.25 2.50 1.00 2.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinosp'ra, Flumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Spruce, Hemlock— 15 to 18 inches 2 to 2½ ft.  Spruce, Blue— 12 to 1½ ft. 2 ½ to 3 ft. 3 ft.  Spruce, Blue— 12 to 15 inches 2 to 2½ ft. 2½ to 3 ft. 3 ft.  Spruce, Norway— 1½ to 2 ft. 2 to 3 ft. 2 to 3 ft.  | 3.50<br>1.50<br>2.00<br>1.25<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>2.50<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00<br>1.00 |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Spruce, Hemlock— 15 to 18 inches 2 to 2½ ft.  Spruce, Blue— 12 to 15 inches 2 to 2½ ft. 2½ to 3 ft. 3 ft.  Spruce, Norway— 1½ to 2 ft. 2 to 3 ft. 3 to 4 ft.   | 3.50 1.50 2.00 1.25 2.50 1.00 2.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.70 1.00 2.70 1.00 2.70 1.00 2.70 1.00 2.70  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Spruce, Hemlock— 15 to 18 inches 2 to 2½ ft.  Spruce, Blue— 12 to 15 inches 2 to 2½ ft. 2½ to 3 ft. 3 ft.  Spruce, Norway— 1½ to 2 ft. 2 to 3 ft. 3 ft.  Spruce, Norway— 1½ to 2 ft. 2 to 3 ft. 3 to 4 ft.  4 to 5 ft. 4 to 5 ft.  | 3.50 1.50 2.00 1.25 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.00 4.50 5.00 6.00  |
| Juniperus, Virginia Glauca (Blue Cedar) 2½ to 3 ft.  Pine, Austrian— 2 to 3 ft. 3 to 4 ft.  Fine, White— 2 to 3 ft. 4 to 5 ft.  Retinospira, Plumosa— 1 to 1½ ft. 2 to 2 ft. 3 to 4 ft.  Retinospora, Plumosa Aurea— 1 to 1½ ft. 2 to 3 ft. 3 to 4 ft.  Spruce, Hemlock— 15 to 18 inches 2 to 2½ ft.  Spruce, Blue— 12 to 15 inches 2 to 2½ ft. 2½ to 3 ft. 3 ft.  Spruce, Norway— 1½ to 2 ft. 2 to 3 ft. 3 to 4 ft.   | 3.50 1.50 2.00 1.25 2.50 1.00 2.00 2.50 1.00 2.50 1.00 2.50 1.00 2.50 1.00 2.70 1.00 2.70 1.00 2.70 1.00 2.70 1.00 2.70  |

### ORNAMENTAL AND SHADE TREES

| OLUMINIDA IIIA MAD DILIDA IMADI  |   |  |
|--|---|--|
| Ash, White—8 to 10 ft.  Ash, Mountain—7 to 8 ft.  Beech, American—6 to 8 ft.  Beech, Purple Leaved—3 to 4 ft.  Birch, Scotch—6 to 8 ft.  Birch, Black—6 to 8 ft.  Catalpa, Speciosa—8 to 10 ft.  Chestnut, American Sweet—6 to 8 ft.  Chestnut, Japanese Sweet or Giant Chestnut, Japanese Sweet or Giant Chestnut, Spanish—4 to 5 ft.  Chestnut, Spanish—4 to 5 ft.  Crab, Bechtel's Flowering—3 to 4 ft.  Dogwood, White—3 to 4 ft.  Dogwood, Red—2 to 3 ft.  Elm, American—8 to 10 ft.  Linden, American—6 to 8 ft.  Linden, European—6 to 8 ft.  Magnolia, Grandiflora—2 to 3 ft.  Magnolia, Grandiflora—2 to 10 ft.  Maple, Norway—8 to 10 ft.  Maple, Scarlet—8 to 10 ft.  Maple, Scarlet—6 to 8 ft.  Oak, Pin—8 to 10 ft.  Oak, Pin—8 to 10 ft.  Oak, White—6 to 8 ft.  Poplar, Carolina—10 to 12 ft.  Sweet Gum—6 to 8 ft.  Sycamore, American—8 to 10 ft. | 1.00<br>.75<br>1.25<br>1.00<br>.75<br>1.00<br>1.00<br>.75<br>.75<br>1.50<br>1.50<br>1.50<br>1.00<br>1.00<br>.75<br>1.25<br>2.00<br>1.00<br>1.00<br>1.00<br>1.00 |  |
| Tulip Tree—8 to 10 ft  | 1.25  |  |
|  |   |  |
| WEEPING TREES  |   |  |
| Weeping Birch, cut leaf-8 to 10 ft   | 2.00  |  |
| Weeping Willow—6 to 8 ft   | 1.00  |  |
| Catalpa Bungeii—6 to 7 ft  | 1.50  |  |
| *  |   |  |

### FRUIT TREES

### Apple-40c. each.

| Early Harvest      | Grime's Golden |  |
|--------------------|----------------|--|
| Golden Sweet       | Jonathan       |  |
| Sweet Bough        | Northern Spy   |  |
| Yellow Transparent | Roman Beauty   |  |
| Fall Pippen        | Winesap        |  |
| Maiden's Blush     | Willow Twig    |  |
| Rambo              | Winter Banana  |  |
| Red Bietigheimer   | Wealthy        |  |
| Baldwin            | Dutchess       |  |
| Bellflower         | York imperial  |  |
|                    |                |  |

### Peach-40c each

| Alexander        | Heath Free         |
|------------------|--------------------|
| Amsden June      | Mountain Rose      |
| Chinese Cling    | Salway             |
| Crawford's Early | Stump of the World |
| Crawrord's Late  | Wonderful          |
| Champion         | Karamazoo          |
| Elberta          | Lemon Cling        |
| Hearn Cling      | Lemon Free         |

### Cherry-50c. each

| Black Eagle     | Early Richmond |
|-----------------|----------------|
| Black Tartarian | Late Duke      |
| Gov. Wood       | Montmorency    |
| Yellow Spanish  | May Duke       |
| Windsor         | Dye House      |

### Pear-50c. each

| Dutchess Bartiett Clapp's Favorite Wilder | Flemish<br>Hower<br>Keifer<br>Seckel | Beauty |
|---|--------------------------------------|--------|
| Wilder                                    | Secker                               |        |

### Plum-50c. each

Imperial Gage Wila Goose Lompard Shropshire Damson Golden Beauty German Prune

Abundance Burbank Wickson Bradshaw Moore's Artic

Apricot-50c. each

Early Golden

Moorepark

Quince-35c each

Apple or Orange

Champion

### GRAPES

Strong Two Year Old Vines

Black-15c. each

Concord Ives Seedling Moore's Early

Red-25c. each

Agawam Brighton Catawoa Delaware Woodruff's Red Wyoming Red Wordon

White-25c. each

Golden Pocklington Lady

Moore's Diamond

Niagara

### SMALL FRUITS

Raspberries, Red-10c each; \$1.00 per doben; \$5.00 per 100

Cuthbert Crimson Beauty Eureka Cardinal

Raspberries, Black-10c. each; \$1.00 per dozen; \$5.00 per 100.

Mammoth Cluster Earnart

Cumberland

Blackberries-10c. each; \$1.00 per dozen; \$5.00 per 100

Agawam Erre Kittitinny Eldorado Merserean

Currants-15c. each; \$1.50 per dozen; \$6.00 per 100

Black Naples Cherry Fay's Prolific

White Grape Red Cross

Gooseberries-25c. each; \$2.00 per dozen

Industry Downing's Smith's Improved Houghton

Strawberries-\$1.00 per 100

Brandywine Gandy Cumberland Haverland Warfield

Bubach Senator Dunlap Uncle Jim Sharpless

### BULBS

### HYACINTHS

Single and dozen prices postpaid, larger quantities at buyer's expense.

Bulbs in the open ground should be set out from the middle of October to December. Remove four inches of surface soil and arrange the bulbs on the freshly exposed surface, placing them six inches apart, then replace the soil. Protect from frost by covering beds with four inches of leaves kept in place by the weight of light sticks or branches but do not cover

four inches of leaves kept in place by the weight of light sticks or branches, but do not cover until the ground has become well frozen. Remove this covering in early spring.

For indoor culture place one bulb in a four inch pot, or several in a larger pot, using any good soil, first placing drainage in the bottom of the pot. Plant the bulbs even with the surface, water thoroughly, and place in a cool dark place for six or eight weeks, taking care not to let the soil dry out, then gradually bring them into full light and water freely. Keep in a cool room.

They can be set outdoors, the pots being buried several inches below the surface and brought into the house as needed.

Select Single Named Hyacinths—-8c. each; 90c. per dozen; \$6.00 per hundred.

Charles Dickens-Rosy pink.

King of the Blues-Rich dark blue.

Queen of the Blues-Light porcelain blue.

Gertrude-Rosy pink.

Gigantea-Rose and blush.

La Grandesse-Fine white.

L'Innocence-Pure white, fine large spike.

Obelisque—Yellow. Smaller bulbs of the above kinds 5c. each; 50c. per dozen; \$3.50 per hundred.

Unnamed Hyacinths, Single and Double—In separate colors, splendid for bedding purposes. White, Red and Rose, Blue, Yellow, or all colors mixed, 6c. each: 70c. per dozen; \$5.50 per hun-

### ROMAN HYACINTHS

### For Indoor Culture Only

Everyone should include a few of this free flowering variety. Pure white and deliciously fragrant. Require same treatment as other hyacinths for indoor use, 5c. each; 60c. per degree, \$1.00 per hyadred. dozen; \$4.00 per hundred.

### TULIPS

Single and dozen price postpaid, larger quantities at buyer's expense.

Cultural directions same as for hyacinths. Tulips are such popular flowers that we do not think it necessary to go into details in describing them. Everyone is acquainted with this beautiful, showy, spring flower. They are as well adapted for house culture as for outdoor purposes.

### Single Early Tulips

Artus—Bright scarlet, excellent bedder, 5c. \*\*Reizerskroon—A beautiful large red flower

with a yellow border, 5c. each; 45c. per dozen; \$2.25 per hundred.

La Reine—White, flushed with pink, 5c. each; 35c. per dozen; \$1.50 per hundred.

Yellow Prince—Fine sweet scented yellow, 5c. each; 35c. per dozen; \$1.75 per hundred.

Choice Single Mixed—An excellent mixture, 35c. per dozen; \$1.50 per hundred.

### Double Tulips

Murillo—A dainty silvery pink, fine for cut flowers, 5c. each; 40c. per dozen; \$2.10 per hundred.

La Candeur—Pure white, 5c. each; 35c. per dozen; \$2.00 per hundred.

Rex Rubrum—Grand scarlet, 5c. each; 45c.

Rex Rubrum—Grand scarlet, 5c. each; 45c. per dozen; \$2.25 per hundred.

Duke of York—Cherry edged with white, 5c. each; 40c. per dozen; \$2.00 per houndred.

Gloria Solus—Bronze, orange and crimson 5c. each; 40c. per dozen; \$2.00 per hundred.

Tournesol—A true yellow, very fine, 5c. each; 50c. per dozen; \$2.50 per hundred.

Choice double mixed, comprising only the best sorts, 35c. per dozen; \$1.75 per hundred.

### Late Tulips-Darwin Tulips

Too much canot be said of this new late or May flowering type, which comes into bloom after all the earlier flowering tulips are gone. Their brilliant and perfect flowers are borne on long stems making them especially desirable for cut flowers. In our Caoice Mixed will be found an excellent collection of the most beautiful kinds, 40c. per dozen; \$2.00 per hundred.

### Parrot Tulips

Very popular on account of their peculiar form of flowers, and brilliant coloring, their fringed or feathered flowers being curiously marked with yelow, red and green. Choice Mixed, 35c. per dozen; \$1.50 per hundred.

### NARCISSI OR DAFFODILS

Single and Dozen Prices Postpaid. Larger Quantities at Buyer's Expense.

Plant four or five inches deep and five to six inches apart. Do not disturb them until the second year of flowering, then dig as foliage is dying, off and held until fall but do better replanted at once. No mulching required.

Indoor culture same as for Hyacinths.

### SINGLE TRUMPET DAFFODILS

Victoria—Deep yellow trumpet, with creamy white collar, 10c. each; 60c. per dozen; \$3.00 per hundred.

Golden Spur—A pure golden yellow, very early, 10c. each; 50c. per dozen; \$2.50 per hun-

dred

### DOUBLE DAFFODILS

Von Sion—The famous old "Double Yellow Daffodil," rich golden yellow, 10c. each; 60c. per dozen; \$3.00 per hundred.

Alba Plena—The double Poet's Narcisus, a waxy white blossom resembling a Camelia, 5c. each; 30c. per dozen; \$1.50 per hundred.

### POET'S NARCISSUS

**Poeticus or Pheasant's Rye**—An old well known variety, single white and very fragrant, 2 for 5c; 25c per dozen; \$1.00 per hundred.

### POLYANTHUS NARCISSUS

Paper White—This is the sprendid pure white variety so much used by florests for cut flowers. It may be grown in the same manner as the Chinese Sacred Lily, or grown in pots or boxes, 5c. each; 45c. per dozen; \$2.00 per hundred. dred.

### CROCUS

The Crocus is used for edeging beds, or is planted along the edges of walks, or in clumps on the lawn. Set two or more inches apart and three inches deep. They prefer a sandy soil. They can also be grown in pots or boxes. Blue and purple ,white, striped and variegated, yellow, or mixed, postpaid 15c. per dozen; 80c per hundred. At buyers expense, \$6.00 per thousand and.

### CHINESE SACRED LILY

"Jos. Flower" or "Flower of the Gods"

The flowers are very fragrant, pure white and yellow, and are borne in clusters on stiff spikes. Place the bulb in a pan or bowl three or four inches deep, containing a little sand, fill in about the bulb enough sand and pebbles or shells to steady it, and fill bowl with water. Keep in a cool dark place for about two weeks, then bring into light. Keep bowl filled with water and do not keep in a very warm place. Postpaid, 15c. each; 3 for 35c. or \$1.25 per dozen.

### FREESTAS

A little bulb splendidly adapted for winter blooming. Plant five or six in a five inch pot. Do not put in the dark as in starting other bulbs. Postpaid, 2 for 5c.; 25c. per dozen; \$2.00 per bundred. per hundred.

### OXALIS

Bermuda Buttercup—Produces an abundance of rich yellow flowers. Place several bulbs in a four inch pot, keep in a warm place and they will bloom in about two months. Postpaid, 15c. per dozen; 75c. per hundred.

### IRIS

Spanish Iris—One of the most satisfactory flowers for out door planting, their beautiful coloring making them especially desirable for cut flowers. Plant three inches deep and three inches apart. Mixed, 15c. per dozen; 75c. per hundred, postpaid.

### SCILLA

The brightest and prettiest of the early spring flowers, closely following the Crocus. Plant about three inches deep. White or blue, 20c. per dozen; \$1.25 per hundred, postpaid.

### CHIONODOXA

A flower which increases in popularity as it becomes better known. Produces sprays of blue flowers similar to Scilla except that each flower has a white center. Plant about 3 inches deep, 25c. per dozen; \$1.50 per hundred, postpaid.

### SNOWDROPS

These dainty little flowers come into bloom often before snow has gone. Plant about 2 inches deep and 2 inches apart. Single, 2 for 5c.; 26c. per dozen; 90c. per hundred, postpaid. Double, 5c. each; 35c. per dozen; \$2.00 per hundred. dred.

### ANEMONE

Pretty little poppy-like flowers of various colors, blooming early in the spring. Plant 2 inches deep. Single, mixed, 2 for 5c.; 20c. per dozen; 90c. per hundred, postpaid. Double, mixed, 5c. each; 35c. per dozen; \$2.50 per hundred, postpaid.

If purchased over the counter at our store deduct 10c. per dozen from price of Hyacinths, Tulips and Narcissi and 5c. per dozen for all other pulbs.

We also have a complete stock of the best Hardy Flowering Shrubs and Perennials, prices of which will be furnished upon request.